



Research Article

INTEGER SOLUTION OF THE NON-HOMOGENEOUS BIQUADRATIC EQUATION WITH SIX UNKNOWNNS $x^4 - y^4 - 8zw = 2T(P^2 + 1)$

Vidhyalakshmi, S., *Lakshmi, K. and Gopalan, M. A.

Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620002, Tamilnadu, India

ARTICLE INFO

Article History:

Received 24th October, 2014
Received in revised form
04th November, 2014
Accepted 30th December, 2014
Published online 31st January, 2015

ABSTRACT

We obtain infinitely many non-zero integer sextuples (x, y, z, w, P, T) satisfying the biquadratic equation with six unknowns $x^4 - y^4 - 8zw = 2T(P^2 + 1)$. Various interesting properties among values of x, y, z, w, P and T are presented.

Keywords: Integer solution,
Non – Homogeneous Biquadratic
Equation,
Pellian Equation

MSC 2000 Mathematics subject classification: 11D25.

Copyright © 2015 Vidhyalakshmi et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. INTRODUCTION

The theory of diophantine equations offers a rich variety of fascinating problems. In particular, biquadratic Diophantine equations, homogeneous and non-homogeneous have aroused the interest of numerous mathematicians since antiquity (Dickson, 1952, Mordell, 1969, Carmichael, 1959, Telang, 1996, Nigel and Smart 1999). In this context, one may refer (Gopalan et al., 2009,2010,a,b,c,2012a,b; Meena et al., 2014) for various problems on the biquadratic diophantine equations with four variables and (Gopalan et al., 2009,2011,2014,Vidhyalakshmi et al., 2014) for five variables and (Gopalan et al., 2012) for six variables. In this paper the non-trivial integral solutions of the non-homogeneous equation with six unknowns given by $x^4 - y^4 - 8zw = 2T(P^2 + 1)$ are discussed. A few relations among the solutions are presented.

2. Method of Analysis

The Diophantine equation representing the given equation with six unknowns under consideration is

$$x^4 - y^4 - 8zw = 2T(P^2 + 1) \dots\dots\dots (1)$$

The introduction of the linear transformations,

$$x = u + v, y = u - v, z = u^2, w = v^2, P = 2v, T = 4uv, \quad u, v > 0 \dots\dots\dots (2)$$

in (1) leads to

$$u^2 - uv - (3v^2 + 1) = 0 \dots\dots\dots (3)$$

*Corresponding author: Lakshmi, K.
Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620002, Tamilnadu, India.
The above equation (3) is solved through different approaches and thus, one obtains different sets of solutions to (1)

2.1 Pattern1

Considering (3) as a quadratic in u and solving we get

$$u = \frac{v \pm \sqrt{13v^2 + 4}}{2}$$

By considering $v = 2X$ (4)

we get the solution of (3) as

$$u = X \pm r$$
 (5)

where $r^2 = 13X^2 + 1$ (6)

The General solution (r_n, X_n) of this pellian equation (6) is obtained as

$$\left. \begin{aligned} r_n &= \frac{1}{2} \left[(649 + 180\sqrt{13})^{n+1} + (649 - 180\sqrt{13})^{n+1} \right] \\ X_n &= \frac{1}{2\sqrt{13}} \left[(649 + 180\sqrt{13})^{n+1} - (649 - 180\sqrt{13})^{n+1} \right], n = 0, 1, 2, \dots \end{aligned} \right\} \dots (7)$$

Case1: Consider $u_n = X_n + r_n$ and $v_n = 2X_n$ (8)

Then the corresponding integral solutionS to (1) are given by

$$\left. \begin{aligned} x_n &= \frac{1}{2}f + \frac{3}{2\sqrt{13}}g \\ y_n &= \frac{1}{2}f - \frac{1}{2\sqrt{13}}g \\ z_n &= \frac{1}{52}(13f^2 + 2\sqrt{13}fg + g^2) \\ w_n &= \frac{1}{13}g^2 \\ T_n &= \frac{2}{13}(g^2 + \sqrt{13}fg) \\ P_n &= \frac{2}{\sqrt{13}}g \end{aligned} \right\} \dots (9)$$

where

$$\left. \begin{aligned} f &= (649 + 180\sqrt{13})^{n+1} + (649 - 180\sqrt{13})^{n+1} \\ g &= (649 + 180\sqrt{13})^{n+1} - (649 - 180\sqrt{13})^{n+1} \end{aligned} \right\} \dots (10)$$

A few numerical examples are given below

n	0	1	2
x_n	1189	1543321	2003229469
y_n	469	608761	790171309
z_n	687241	1157864233681	1950771976632751321
w_n	129600	218350598400	367877524885646400
T_n	1193760	2011249753920	3388557607903248480
P_n	720	934560	1213058160

The solutions (9) of (1) satisfy the following properties

- $52z_n - 20x_{2n+1} - 8y_{2n+1} - 24 = 0$
- $2(x_{2n+1} - y_{2n+1}) = (x_n + 3y_n)(x_n - y_n)$
- The following expressions are nasty numbers:

(a) $21(52z_n - 13(x_{2n+1} - 3y_{2n+1}) + 4)$

(b) $3(x_{2n+1} + 3y_{2n+1} + 4)$

- The following are cubic integers:

(a) $18[26z_n - 10x_{2n+1} - 4y_{2n+1}]$

(b) $14(x_{2n+1} + 3y_{2n+1} + 4) - 13(x_n - y_n)^2 - 104z_n + 26T_n$

(d) $4[x_{3n+2} + 3y_{3n+2} + 3(x_n + 3y_n)]$

- The following expressions are biquadratic integers:

(a) $8[x_{4n+3} + 3y_{4n+3} + 2(x_n + 3y_n)^2 - 4]$

(b) $8[x_{4n+3} + 3y_{4n+3} + 4(x_{2n+1} + 3y_{2n+1}) + 12]$

Remarkable observations

I: By considering suitable linear transformations between the solutions of (1), one may get integer solutions for the Parabola.

(a) **Illustration1:** It is to be noted that the Parabola

$$Y^2 = 2X$$

is satisfied for the following three sets of values of X and Y

Set1:

$$Y = x_n + 3y_n$$

$$X = x_{2n+1} + 3y_{2n+1} + 4$$

Set2:

$$Y = x_{2n+1} + 3y_{2n+1} + 4$$

$$X = x_{4n+3} + 3y_{4n+3} + 2(x_n + 3y_n)^2 - 4$$

Set3:

$$X = w_n x_{2n+1} + 3y_{2n+1} w_n + 4w_n$$

$$Y = x_{2n+1} - y_{2n+1}$$

(b) **Illustration2:** The Parabola

$$Y^2 = 4X$$

is satisfied for the following two sets of values of Y and X

Set1: $Y = (x_n - y_n)$

$$X = w_n$$

Set2: $Y = P_n$
 $X = w_n$

Case2:

Consider $u_n = X_n - r_n$ and $v_n = 2X_n$ (11)

Then the corresponding integral solutions to (1) are given by

$$\left. \begin{aligned} x_n &= \frac{3g}{2\sqrt{13}} - \frac{f}{2} \\ y_n &= -\left(\frac{g}{2\sqrt{13}} + \frac{f}{2}\right) \\ z_n &= \frac{1}{52}(13f^2 - 2\sqrt{13}fg + g^2) \\ w_n &= \frac{1}{13}g^2 \\ T_n &= \frac{2}{13}(g^2 - \sqrt{13}fg) \\ P_n &= \frac{2}{\sqrt{13}}g \end{aligned} \right\} \dots\dots\dots (12)$$

where f and g are obtained from (10)

A few numerical examples are given below:

n	0	1	2
x_n	-109	-141481	-183642229
y_n	-829	-1076041	-1396700389
z_n	219961	370589955121	6243706975667731481
w_n	129600	218350598400	367877524885646400
T_n	-675360	-1137847360320	1917047508360662880
P_n	720	934560	1213058160

2.2 Pattern2

Considering (3) as a quadratic in v and solving we get

$$v = \frac{-u \pm \sqrt{13u^2 - 12}}{6}$$

By considering $u = 2X$ (13)

in the above equation we get

$$v = -\frac{1}{3}(X + r) \dots\dots\dots (14)$$

where $r^2 = 13X^2 - 3$ (15)

The smallest positive integer solution (X_0, r_0) of (15) is

$$X_0 = 2, r_0 = 7 \dots\dots\dots (16)$$

To obtain the other solutions of (15), consider the Pellian equation

$$r^2 = 13X^2 + 1 \dots\dots\dots (17)$$

whose general solution $(\tilde{X}_n, \tilde{r}_n)$ is given by

$$\begin{aligned} \tilde{r}_n &= \frac{1}{2} [(649 + 180\sqrt{13}) + (649 - 180\sqrt{13})^{n+1}] \\ \tilde{X}_n &= \frac{1}{2} [(649 + 180\sqrt{13}) + (649 - 180\sqrt{13})^{n+1}], n = 1, 2, 3, \dots \end{aligned} \dots\dots\dots (18)$$

Applying Brahmagupta lemma, between the solutions (X_0, r_0) and, $(\tilde{X}_n, \tilde{r}_n)$ the general solutions of (15) are found to be

$$\left. \begin{aligned} X_{n+1} &= 2\tilde{r}_n + 7\tilde{X}_n \\ r_{n+1} &= 7\tilde{r}_n + 26\tilde{X}_n \end{aligned} \right\}$$

Using (16) and (18), the above equations becomes

$$\left. \begin{aligned} X_{n+1} &= f + \frac{7g\sqrt{13}}{26} \\ r_{n+1} &= \frac{7f}{2} + g\sqrt{13} \end{aligned} \right\} \dots\dots\dots (19)$$

Taking advantage of (19), (13), (14) & (2), and performing some algebra, the sequence of integral solutions of (1) can be obtained as

$$\left. \begin{aligned} x_{n+1} &= \frac{1}{2}f + \frac{3}{26}g\sqrt{13} \\ y_{n+1} &= \frac{7}{2}f + \frac{25}{26}g\sqrt{13} \\ z_{n+1} &= 4[f^2 + \frac{7}{13}\sqrt{13}fg + \frac{49}{52}g^2] \\ w_{n+1} &= \frac{1}{9}[\frac{81f^2}{4} + \frac{1089}{52}g^2 + \frac{297}{26}\sqrt{13}fg] \\ T_{n+1} &= -\frac{8}{3}[\frac{9f^2}{2} + \frac{231}{52}g^2 + \frac{129}{52}\sqrt{13}gf] \\ P_{n+1} &= -\frac{2}{3}[\frac{9f}{2} + \frac{33}{26}\sqrt{13}g] \end{aligned} \right\} \dots\dots\dots (20)$$

where f and g are obtained from (10)

A few numerical examples are given below:

n	0	1	2
x_n	1	1189	1543321
y_n	7	9043	11737807
z_n	16	26173456	44097090238096
w_n	9	15421329	25981886201049
T_n	-48	-80362128	-135394273460208
P_n	-6	-7854	-10194486

The patterns of solutions $(x_n, y_n, z_n, w_n, P_n, T_n)$ to (1) presented in (9), (12) and (20) satisfy the following recurrence relations:

$$\left. \begin{aligned}
 x_{n+2} - 1298x_{n+1} + x_n &= 0 \\
 y_{n+2} - 1298y_{n+1} + y_n &= 0 \\
 z_{n+2} - 1684802z_{n+1} + z_n &= -777600 \\
 w_{n+2} - 1684802w_{n+1} + w_n &= 259200 \\
 P_{n+2} - 1298P_{n+1} + P_n &= 0 \\
 T_{n+2} - 1684802T_{n+1} + T_n &= 518400
 \end{aligned} \right\} \dots\dots\dots (21)$$

3. Conclusion

In this paper, different patterns of non-zero distinct integral solutions of the non-omogeneous biquadratic equation with six unknowns, given in the title are obtained. As the biquadratic equations are rich in variety, one may attempt for finding integer solutions to the biquadratic equations with multiple variables and search for their properties.

Acknowledgement

*The financial support from the UGC, New Delhi (F.MRP-5122/14 (SERO/UGC) dated March 2014) for a part of this work is gratefully acknowledged

REFERENCES

Carmichael, R.D. 1959. The theory of numbers and Diophantine Analysis, Dover publications, New York.
 Dickson L.E. 1952. History of Theory of Numbers, Vol.11, Chelsea publishing company, New York.
 Gopalan, M. A. and Sangeetha, G. 2010. *Integral solutions of Non-homogeneous Quartic equation* $x^4 - y^4 = (2r^2 + 2r + 1)(z^2 - w^2)$, Impact J.Sci Tech; Vol.4 No.3, 15-21.
 Gopalan, M.A. and Kaligarani, J. 2009. *Quartic equation in 5 unknowns* $x^4 - y^4 = 2(z^2 - w^2)p^2$ Bulletin of Pure and Applied Sciences, Vol28 (N0.2), 305-311.
 Gopalan, M.A. and Kaligarani, J. 2011. *Quartic equation in 5 unknowns* $x^4 - y^4 = 2(z + w)p^3$ Bessel J. Maths., 1(1), 49-57.
 Gopalan, M.A. and Padma, R, 2010. *Integral solution of Non-homogeneous Quartic equation* $(x^4 - y^4) = z^2 - w^2$, Antarctica J. Math., 7(4), 371-377.
 Gopalan, M.A. and Pandichelvi. 2009. V *On the Solutions of the Biquadratic equation* $[(x^2 - y^2)]^2 = (z^2 - 1)^2 + w^4$ Paper presented in the international conference on Mathematical Methods and Computation, Jamal Mohammed College, Tiruchirappalli, July 24-25.
 Gopalan, M.A. and Shanmuganandham, P. 2010. *On the biquadratic equation* $x^4 + y^4 + z^4 = 2w^4$, Impact J.Sci tech; Vol.4, No.4, 111-115.
 Gopalan, M.A. and Shanmuganandham, P. 2012. *On the Biquadratic Equation* $x^4 + y^4 + (x + y)z^3 = 2(k^2 + 3)^{2n} w^4$ Bessel J.Math., 2(2), 87-91.
 Gopalan, M.A., Vidhyalakshmi, S. and Lakshmi. K. 2012. *On the biquadratic equation with four unknown* $x^2 + xy + y^2 = (z^2 + zw + w^2)^2$ International Journal of Pure and Applied Mathematical Sciences, vol.5(1),73-77, Oct (2012)

- Gopalan, M.A., Vidhyalakshmi, S. and Premalatha, E. 2014. *On the homogeneous biquadratic equation with 5 unknowns*
 $x^4 - y^4 = 8(z + w)^3 p^3$ IJSRP, Vol4, issue1, 1-5, Jan (2014)
- Gopalan, M.A., Vidhyalakshmi, S. and Lakshmi, K. 2012. *Integral Solutions of the Biquadratic Equation with six unknown*
 $x^2 + y^2 + z^4 = u^3 + v^4 + (z + v)w^2$ Global Journal of Pure and Applied Mathematics, vol.8(5),547-552.
- Meena, K., Vidhyalakshmi, S., Gopalan, M. A. and AarthiThangam, S. 2014. *On the Biquadratic Equation* $x^3 + y^3 = 39zw^3$,
 IJOER, Vol.2, issue 1, 57-60.
- Mordell, L.J. 1969. Diophantine equations, Academic press, London.
- Nigel, D.Smart, 1999. The Algorithmic Resolutions of Diophantine Equations, Cambridge University press, London.
- Telang, S.G. 1996. Number theory, Tata Mc Graw Hill publishing company, New Delhi.
- Vidhyalakshmi, S., Gopalan, M. A. and Kavitha, A. 2014. *Observations on the biquadratic equation with 5 unknowns*
 $x^4 - y^4 - 2xy(x^2 - y^2) = Z(X^2 + Y^2)$ IJESM, Vol 2, issue 2,192-200 June (2014).
- Vidhyalakshmi, S., Gopalan, M. A. and Lakshmi, K. 2014. *Observation on the Biquadratic Equation with Five unknown*
 $2(x^3 + y^3) = (k^2 + 3s^2)(z^2 - w^2)P^2$ International Journal of Innovative Research and Review, vol.2 (2), 12-19, April-June,
 (2014).
